S027: Heredity 

Answers: 1. D, 2. D, 3. B

1) In mussels, brown (B) coloring is dominant, and blue (b) coloring is recessive. If a blue mussel has two brown parents, what percentage of the total offspring of these brown parents are expected to be blue? 
	A.
	100%
	
	B.
	75%

	C.
	50%
	
	D.
	25%


Source: MCAS: 2010, Science and Technology/Engineering – Grade 10
http://www.doe.mass.edu/mcas/testitems.html
2) A partial Punnett square is shown below. Which of the following statements describes the parental genotypes that would result in this Punnett square?

	AA
	AA

	Aa
	Aa


	A.
	Both parents are heterozygous.

	B.
	Both parents are homozygous dominant.

	C.
	One parent is homozygous recessive and the other parent is heterozygous.

	D.
	One parent is homozygous dominant and the other parent is heterozygous.


Source: MCAS: 2009, Science and Technology/Engineering – High School
http://www.doe.mass.edu/mcas/testitems.html
3) Two spotted leopards produce a litter of four cubs. Three of the cubs are spotted and one is solid black. The black coat is probably what type of trait?

	A.
	dominant

	B.
	recessive

	C.
	polygenic

	D.
	sex-linked


Source: MCAS: 2006, Science and Technology/Engineering – High School
http://www.doe.mass.edu/mcas/testitems.html
